SA: AR EZ M

3 2Xel FEMIISN/=S)
Bl ARIHBH 24 K@ CEREED
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
INEEIRS DN I 13,187,142 27,361,892 A14,174,750
= 4,969,000
== 8,218,142
dxiel #E(MIISX/cS) 12,562,790 26,209,457 13,646,667
[ 4,969,000
= 7,593,790
AR EHZH 243t A2 12,562,790 26,209,457 13,646,667
= 4,969,000
=S 7,593,790
ARIBZH |4 Jlgt= 464,300 733,750 A\269,450
201 er23 | 39,600 39,450 150
01 At2tltl 31,600 14,550 17,050
OMIHB MY =2Y 4,500
OAZIH M 2t2EHI0IE 22 7,100
OYHE EXNRIE Fgt I SHat 20,000
03 A2 I 8,000 24,900 16,900
OAt2I XN 370 242 324 8,000
202 04l 3,600 3,000 600
01 2LHoIH 3,600 3,000 600
OARAHZM Jlet1E Al =8 3,600
301 eEetE N = 4,100 5,100 21,000
14 JIEt 23 4,100 5,100 A1,000
OAZHEN SS70 45 328 4,100
307 @I2t0| & 417,000 686,200 A269,200
02 LB AAHEE 417,000 686,200 A269,200
OZER2 2Y 156,000
OARIHZHDIY dF3HHE N3 60,000
OAAX M Jl=sd 43 e X2 56,000
O(CIENAIEI =Y DEsH (A& 0lE) 45,000
OAM3BEZE 20 JIBtES 2435t KA 100,000
AR HHMES 83 =8 672,000 960,143 A288,143
307 elztol & 672,000 960,143 A288,143
05 2IZtRAE = 672,000 960, 143 288,143
OA HFMXI2HE 29 672,000
ASIHZH SAlEt2 Z&(=1) 2,860,000 8,800,000 25,840,000
= 1,430,000
[ 1,430,000
403 MR HHMSAHE01H 2,860,000 8,800,000 /5,940,000
[ 1,430,000
= 1,430,000
02 V2SO0 U H=E P E AL 2,860,000 8,800,000 /5,840,000
OARIHEHM SelEtzE &4 2,860,000
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SN ABIEEH D
g gliel FE(M=A/=8)
Chol: ABIEZA &4 X (cro|: m2)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
= 1,430,000
=S 1,430,000
ARIEDIE S4(LReIEE) (=) 3,576,670 7,572,760 23,996,090
= 2,900,000
< 676,670
308 AXIHMSOIA 3,576,670 7,572,760 23,996,090
[ 2,900,000
= 676,670
01 X SHHBAEES 3,576,670 7,572,760 A3,996,090
OZXeIEHEMNE 3,576,670
[ 2,900,000
= 676,670
AR Y |4 89,020 120,220 231,200
201 er23| 8,220 8,220 0
01 At2teltl 8,220 8,220 0
OAIHIIY 28 & &2 U 8,220
202 04dl 4,800 4,000 800
01 2L AL 4,800 4,000 800
OAIRDIY sS4 4,800
403 AXIEHMSAH=201H 76,000 108,000 /32,000
01 XISHH A =222 76,000 108,000 A32,000
O(0IBALEI A DI AlEHl IR 76,000
001 |4(=21) 297,700 435,500 A137,800
= 229,000
== 68,700
308 AXIHHSO0IA 297,700 435,500 A137,800
= 229,000
< 68,700
01 HAHHBSEELS 297,700 435,500 137,800
on=lly =4 297,700
s 229,000
= 68,700
O=J1g =4 32,200 96,200 264,000
201 =3 8,000 9,000 A1,000
01 At22t2lt] 8,000 9,000 A1,000
oIy dd & Alm2te| 8,000
202 04l 4,200 3,500 700
01 =LHAHI 4,200 3,500 700
Ol=J1g &8 & AR 2l 4,200
308 AtAIEHMSOIE 20,000 20,000
01 HASHHBSEERS 20,000 20,000
OZ&g Huli=E)Ig |4 20,000
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SN ABIEEH D

3 2Xel FEMIISN/=S)

Bl ARIHBH 24 K@ CEREED
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
gsag gdat X3 42,000 42,000

307 elztol & 42,000 42,000
02 2B HAIHE X 42,000 42,000
Ogsxs 243 N2 42,000
OS01d |4 248 S N2 (&) 520,000 520,000
307 @20l & 520,000 520,000
02 QI AAEE X 520,000 520,000
onr2J1g |4 ALE S N (&) 520,000
KNSEH -zt g% 3,596,400 4,844,000 1,247,600
201 2= 3,508,400 4,720,000 A1,211,600
01 At22t2l] 3,501,400 4,700,000 1,198,600
OLRANER RS =X 3,501,400
02 S5=g4l 7,000 20,000 13,000
oYEdEH RS A 7,000
202 04t 4,000 4,000
01 =LHOHI 4,000 4,000
OZHYEH RS =8 4,000
301 LEtE NS 84,000 120,000 36,000
14 0Bt 2as 84,000 120,000 236,000
oYHEd RS =8 84,000
KSAtel 43t D8k ZH(=1) 410,000 20,000 390,000
s 410,000
308 AFAIEHMSOIE 10,000 0 10,000
[ 10,000
01 HREHH B EES 10,000 0 10,000
OXSAtel Sgdal & A 10,000
= 10,000
403 AXIEHHISAH=0I& 400,000 0 400,000
= 400,000
01 AXISHHA=2E2 X 400,000 0 400,000
OXISAtel 8835 S2Ed 400,000
[ 400,000
INE DAL A 2,500 5,000 2,500
307 @120l & 2,500 5,000 2,500
08 OIXt2d= 2,500 5,000 A2,500
OXIS ekt XIAALS OIAF X2 2,500
JEUSEMANE 4358 FE(SELNAMNL/XALEAI) 593,450 1,120,572 AB27,122
INEPNON = 2o 593,450 1,120,572 AB27,122
d5y OlesSH 2S)I 314,800 382,500 A67,700
201 Ler2 3| 10,000 21,000 A11,000
01 AtR22t2|bI 10,000 16,000 26,000
OlI==SHAME 23X S 10,000
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M UASERX
=2

SA: AR EZ
|
F

Chel: XYAX DLt EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
202 04l 1,800 1,500 300
01 SLHoIH 1,800 1,500 300
Olt=SSHAY 28 1,800
308 AXItHSOIA 303,000 360,000 57,000
01 MAHHBSEEXS 300,000 360,000 260,000
Olt=sSH Al X3 300,000
18 SIS B AS A 3,000 0 3,000
Oll=ssH XNEAME HESE 3,000
DISSSHESEXNZNEH 29 278,650 398,072 A119,422
307 lztol & 278,650 398,072 A119,422
05 2ItRIE =3 278,650 398,072 A119,422
Olt=SSHESEXN2HH 28 278,650
A2 ZHI(AFRIEHZ M) (OIEHIIEL) 30,902 31,863 1961
=238l 30,902 31,863 A961
FA2E J=2EH| 30,902 31,863 A961
201 2= 21,222 22,449 A1,227
01 At22t2l] 21,222 22,449 A1,227
SEA2E A2l 21,222
202 04l 6,080 5,814 266
01 2LHoIH 6,080 5,814 266
OFAMEZ =0 6,080
203 HR=4H] 3,600 3,600
M A2 LIRFAI 3,600 3,600
©202! Olat 3,600
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